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Ural/Russia. The Ural Mountains are in Russia. 

Alps / 7.  The Alps are in 7 different European countries. 

Scandinavian/ North. The Ural Mountains are in the North of Europe. 

Highest /Alps. The highest mountain in the Alps is Mont Blanc. 

Ural /2400. The Ural Mountains are about 2400 km long. 

Alps/1200. The Alps are about 1200 km long. 

 

IRELAND 

The biggest mountain in Ireland is Carrauntoohil. 

The main (major) rivers are Liffey, Boyne, Moy and Barrow. 

The longest river is the River Shannon. 

Is Ireland in an archipelago or an island? It is in  an island. 

Is Ireland the continent’s largest island?No, it isn’t. It is the second largest island. 

How many cows are there in Ireland? There are 6 million cows in Ireland 

Which are the biggest cities in Ireland?The biggest cities in Ireland are Dublin, 

Cork and Limerick. 

When is St. Patrick’s Day?St. Patrick’s Day is on the March 17th. 

Which is the largest lake in Ireland?The largest lake in Ireland is Lough Neagh. 
 


